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y′ = y/x (`)
y′ = −x/y (a)

y′ = (x+ 1)y (b)
y′ = xex+y (
):ze`ad ze`eeynd ly illkd oexztd z` `vn .2

y′ − y/x = 1 (`)
y′ + xy = x2 (a)

y′ + y/x = 6x2 (b):y(0) = 0 i`pzd z` miniiwnd ze`ad ze`eeynd ly zepexztd z` `vn .3
y′ cosx− y sin x = 1 (`)

y′ − 2y = e3x (a)
y′ − 2y = e2x (b)(`).2-e (a).1 mitirqa ze`eeynl .4zepexztd lk ly sxb xiiv (`)

x0 z` lleky rhwa x
bend ,
igie 
g` oexzt miiwy jk x0, y0 ly mikxrd z` `vn (a)
y(x0) = y0 -y jkediiral oexztd z` `vn .5

y′ − 2y = eax , y(0) = 0:oekp `l e` oekp .a xhnxtd ly jxr lkl.a ly divwpetk sivx oexztd (`).a ly divwpetk xifb oexztd (a)ilpeivxetext `edy avwa wxtzn mb la` ,reaw avwa xvein miieqn inik xneg m` .6z` zniiwn ,t onf ly divwpetk ,C(t) miiwd xnegd zenk if` ,miiwd xnegd zenkld`eeynd
dC

dt
= a− bC .(miiaeig mireaw md a, b xy`k).K `ed miiwd xnegd zenk t = 0 onfay oezp m` ,d`eeynd ly oexztd z` `vn (`),K lkly gked (a)

lim
t→∞

C(t) =
a

b
.



yiy la` ,d
eli llba reaw avwa l
b ,m(t) ,miieqn d
ya mixakrd xtqny mixryn .7-xt
d d`eeynd dnl xaqd .mitxeh i
i lr mei lk mibxdpd mixakr ly reaw xtqn mbzil`ivp
dm

dt
= rm− sixg` if` m(0) < s

r
m`y gked .mireaw md r, s xy`k ,df avnl mi`zn l
en ile` `eddf dnl .limt→∞ m(t) = ∞ if` m(0) > s

r
m`y gked .elqgei mixakrd lk miieqn onf? mi`zn jk lk epi` l
endy rivn!dglvda


